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PART -1
ARITHMETIC : 40 Marks
Instructions : Each question under this part carries ONE murk. Please read

each question carefully and answer them by selecting the right one out of the
multiple answers given below each as A, B, C & D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple
answers.

1. The average age of 10 students and their teacher is 20 vears. If the teacher's age
Is excluded, their average age reduces by 2 years. What is the teacher’s age ?

10 @6 Q19 G 6AAIRER 96T QARG 9aa 20 9F | 90 dgesq 900 QIQ

QI 6069 CANINER QAULQ QA 2 C?J(GJ;:E’/ | QGCC;{%‘??-;ZJQ'? fo.Z_ZI. CTS.‘ f )
(A) 30 years (B) 35 years
(C) 40 years (D) 44 years
2. f4A=5B=06C,thentfindA:B:C
(A)15:12:10 (B) 12:10:8
(C)6:5:4 (D) None of these
A8 4A =5B = 6C, 6069 A1 B : C6a6Q 7
(A)15:12:10 (B) 12:10:8
(C)6:5:4 (D) VAIQE MMQ 6660 Q6T

3. ‘A’ starts 2 business with an investment of Rs. 2,500, Seven months Lter, B’
joins with ‘A’ as a partner. After a year, the profits are divided i the ratio of 3:4.
- How much did *B" contribute ?

‘AT 2,500 061 QB G6ed @R YR QaIn QR 0 | Qi MQ TR BT WK

PRI QIER ‘A’ AR QIS 328 | 6AITY Q8 QLR AIAQ 3 : 4 Tpaiveq @Id
QRICI | 6060 *B’ 6060 05 H6@d @ca |

(A) Rs. 7,000 (B) Rs. 8,000
(C) Rs. 10,000 (D) Rs. 12,500

4. A watch is sold for Rs. 770 ata loss of 30%. For how much should it be ~old 1o
gain 20% ?

CIBY QEIQ 770 GRIEQ S8 KR §eRal 30 56 QU 1 6969 YQIO €960 CRIe

QEM 0R0! 20 WK (QQ7?

Moy

(A) Rs. 1,000 (B) Rs. 1,110
(C) Rs. 1,230 (D) R 1,320

CRE-2021/A s PLro
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5.

CAD ] 2 0 e ¢ ’. If [hcy w()l‘k
A’ can finish a work in 18 days. ‘B’ is twice as efficient as ‘A |

together, in how many days, the work will be completed ?
(A) 12 days (B) 9 days

(C) 6 days D) None of these )
‘A Qg Qualq 18 GRsa AGQIEQ | ‘/i’ )EIGQGI ‘B’ Qagel @8 | 49 canies
QAIFQ Al QIEKR 2Iar K08, €969 6866 A6 QoG 6618 6QQ |

(A) 12 days " (B) 9 days ' |

(C) 6 days (D) ¥SIge FNQ 6960 069

o

A cistern is normally filled in 6 hours, but it"takes 3 hours longer to fill because
of a leak at its bottom. If the cistern is full, the leak will empty it in :

(A) 18 hours : (B) 24 hours

(C) 12 hours (D) None of these :
caI3 Q& QIIQEcs 6 Qeica 98 QU. A vaIQ AFaeea 84 el qlase Yl qd
641 Qlel 2P 3 Q9 AAG, QISE | AQ &S qelely, 606Q 896 €R6e AR YLIY
M 9@ ?

(A) 18 hours (B) 24 hours

(C) 12 hours (D) YFIQ& FIlNQ 62616 Q62

(=8

A 150 metres long train passes a bridge at rate 90 km/h in 20 seconds. What 1s
the length of the bridge ?

(A) 650 m (B) 350 m

(C) 500 m (D) None of these

150 foq cady Gds caIFY 6aR Q& g6 90 @4 6a4EQ Q6 @Q €6l caIRg 20
6I6REEQR ATGA Q6Q | 606Q CAIRGQ coaT eaee 7 ‘

(A) 650 m (B) 350 m |
(C) 500 m , (D) VFIQ& FIRNQ 6066 @5@*

A boat man can row 36 km in downstream in 4.hours. If the speed of the current
is 3 km/h, then find in what time will he be able to cover 6 km upstream ?

ocel alaa Calon ARqREa 4 Aaea 36 8. 2RI AIGAIRS | A8 6gI6a el gf

codl 3 B.4. Q0. 606Q 6ase Arlasa 6d 6dIo6l goQnea 6 8.4. 2599 ataIfee ?

(A) 8 hours (B) 6 hours ((;) 2 hours (D) 4 hours

From a point on a circular tract of 12 km long, A, B and C started running in the
same direction at the sameé time with speed of 4 km/h, 3 km/h and 2 km/h

respectively. Then on the starting point, all three will meet again after :

cIGv qaieia cgsa v@ 894 A, B U< C adle AAd6q G afle Qaca Qalqey
QYD 4 G.F. 3 @F. 6 2 &, €6 CRIGER | 636Q 6REO AALKR ANG Hagg
2] 9266 cL6R

(A) 3 hours (B) 4 hours (C) Gihwurs (D) 12 hours

CRE-2021/A
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0. How much water be added to 16 litres of milk worth Rs. 6.75 per litre so that the
value of the mixture will be Rs. 4.50 per litre 7

YR AeQ 48 6.75 ol (lm . QURER 16 ATQ F19LQ 6760 A8 Felaecm ?lf‘léﬂ Aa
ATQ O@ 4.50 o'l GQQ'? '

(A) 8 litres (B) 10 litres . (C) 6 litres (D) 12 litres
1. Ratio of present age of Amit and Rakesh is 7:5. Amit will_be 36 years old after 8
years. How old Rakesh is now ?
Elﬂ@ UQ° QUERIQL Q@WQ QUAQ BQAIG 7:5 266 1 § @F QGQ emap o QU ?() QE
£RQ | 606Q QUCRER FEAIR QUL 6Q6Q ?
(A) 28 years (B) 20 years (C) 21 years (D) 15 years
12.

A sum of money at simple interest becomes five times in,24 years. The rate of
interest per annum is :

(A) 20°% (B 18%

© 1625% (D) Nong of these

668 ¥R AR AARCY QAL 24 @F6Q 5 8 QY | 6668 AARTYR QIR §A68 ?
(A) 202% | | (B 18%

(C) 16:% (D) WAIRE ARG 6R616 Q6

13. At what percent per annum a sum of Rs. 500 will amount to Rs. 864 in 3 years, il
the interest is compounded annually ?

s=lo} 9@@@ Q@ Qlaea 500 C'&i 3 Qg6 864 Q@ 629, ae Q@Q &sel gl qale
- QQUMIN '?

(A) 10% (B) 15% (C) 25% (D) 20%

14. Rahul invested 20% more than Bikash. Bikash invested 20% less than Kamal. 1f
the total sum of their investment is Rs. 8,280, how much amount did Kamal
invest ? ~
Q16 aecasl QI@@ 8R! 20 EIUG? 9&"91 06Rél QEM | @FlW 2edsl QG doae 20
G?ﬂ G@w QCRE Q6M | g aaeg Iae Qe 8,280 Gl Q@w AIRATS QQ&I@, 6R6R
Qﬂ%‘ 6@6@ €]&"*31 AYaar aQ8iem ?

(A) Rs. 3 000 (B) Rs. 2,750 . (C) Rs. 2,50() (D) Rs. 2,250

15. An article is marked 50% above the cost price and it is sold at a discount of 40% .
What is the gain or loss percentagc - 2 | _ .
(A) 10% gain (B) 10% loss (C) I5% gain (D) 15% loss
<al[a QA4Q aGlo ¢l QI @k ﬂ@‘iOIQ AO@el 50 Y@ Ya° \IQIQ QAR 40
QQIG Qade QG? @QIQ@I | COEQ Q@@@I CREe @l QI 86 cQa ?

(A) 10% @& (B) 10% 86 (C) 15% Wi (D) 15% §Q

CRE-2021/A P.T.0.
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16.

17.

18.

19.

20.

21.

22.

23,

Fill in the Missing number in the series 5, 11, 19, 29, --—--
> 119,29, - aigeaq agade aemd gos QQ |

(A) 31 (B) 52 (©) 41 (D) 51
Sum the series 40+39 +38+......... + 11.

40+39+38+ ... + 11 QK70 edIgiemh 660 ?

(A) 820 (B) 780 - (C) 775 (D) 765

If the area of a triangle is 250m> and the ratio of the base and the height is 4 : 5,
then find its height.

G 6aIGY GQaa €geem 250 4 &, Ve vQIa @f ¢ aedla 2Qdle 4 : 5 LY
606Q@ QI Q9GI €R6Q ?

(A) 25m (B) 20m (C) 30m (D) 24m

The length of a rectangle is increased by 25%. By what per cent should the width
be decreased to maintain the same area ?

SAIA, 2DPEHIQ G@Q%Q SRRl 25 Q@ ANV | YQIQ age @G@@l £REQ @@
QEm CHQCR Al QQQ 7 '

(A) 335% (B) 20% (C) 25% (D) 221%

The diameters of two concentric clrcles are 14 cm and 12 c¢cm. The area of the

region between them is :
Arceq S48 Qad Qaq Q1Id SeIfsn 14 6aA. 6 12 6. | 6afIRe ANYER EQl

£SI0Q CHQER 6Q69 ?
(A) 41 cm? (B) 87 cm’ (C) 13mem’ (D) 527 cm?

The volume of a cube is 512 cm”. The total surface area of the cube is :

QO drdeq QR 512 9R6a.f. | 6969 YQIQ @AY JEORA CSQR 660 ?

(A) 729 cm? (B) 486 cm’ (C) 294 cm’ (D) 384 cm>

A solid piece of iron whose length, breadth and height are 44cm, 42cm and 21em

1espect1vcly is moulded into a sphere. The radius of the sphere is :
44 ca.d. coad, 42 cafl. 94 6 21 cafl. apel @ds va Qde AAHLQ anig

B Colaaca 0aae @AIIIY | 696R CAINGEA QHIAIS 6a5o 7

(A) 2lem (B) 35cm (C) 42cm (D) 49¢m
\f‘+\/_ \fg \f_ _9
o3 a3
(A) 16 B8 © (D) 2VT5

CRE-2021/A
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s, Ifa:b=2:3 then find (Sa—2b): (a+3b)

25.

26.

21.

28.

29.

g8 a:b=2:3Q0, 606Q (5u~2b): (a+ 3b) 660 7

(A)3:2 (B) 11 :4 (C)4: 11 (D) 1: 1
271§x\g+81%':‘?
NI B9 (C) 27 (D) 81

Which of the following numbers is a perfect square number
AARGO aosuInIae ARG 6RAG AT adad a7

(A) 2.56 (B) 0.004 - () 0.036 (D) 12.1

(ape

What is the smallest number by which 10976 must be divided to make it a pertect
cube ? ' .

¢l QOF CPatl QeI 10976 @ Q6! acm 912l 6eIF gelan et caIaaIa 7

(A)2 (B) 4 (€7 (D) 8

If 11 eggs are bought for Rs. 10 and 10 eggs are sold for Rs. 11, what is the

percentage of gain or loss ?
(A) 20% loss (B) 20% gain (C) 21% gain, (D) 21% loss

g8 10 oaicq 11 8 24l eI 6 11 9@6a 10 & Ugl @F QqIald, 606Q SI0es!
Q60 AIQ @ 80 629 7

(A)20% 86 - (B)20% @& (C) 21% [ (D) 21% 8¢
10 examiners can evaluate 2000 answer sheets in § days. In how many days. 12
examiners can evaluate 3000 answer sheets ?

10 g8 aoise 8 Gaea 2000 ¢liel Fatlia? AREING | 606 12 Q8 A8G QLG
806a 3000 @91 ARNIER @QAIGER 7

(A) 20 days (B) 15 days (C) 132 days (D) 10 days

30. How many numbers up (o 400 arc divisible by 5 and 7 together ?
400 aoTg €RGOIG Qe Qe 5 9° 7 Qlel Ry 2ee ?
(A) 1L (B) 10 ()9 (D) 12

31. The differcnce between 90% and 75% of a number is 225. Then find out 82% of
the number.
SR cPaiq G096l 90 Ya° Geael 75 ARG B]Q 225 2EE | €ecR aenda
AR 82 CREQ 7 \
(A) 2250 (B) 1230 (€) 1500 (D) 1200

CREQ2021/n ‘
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3 1fA:B=4:5andB:C=7:8 thenfindA:C
G A:B=4:599° B:C=7:8,6062 A C 6@k 7
(A)5:35 (B) 32:35
(C)7:10 (D) 10:7

. ' y ~ a
33. What is the smallest number which should be added to 7200 to make the sum
perfect square number ?

7200 60 6RG FQOF A6l Cal6l @em €L o e qded Qe 6ee 7
(A) 196 (B) 15 (C) 50 D) 25

~~

a4. The ratio of two numbers is 5 : 6 and their H.C.F. is 6. Their L. CM.is:
Qed eiiQ AQEIS 5 : 6 6 cadiawa 6.dlg. 6 8T | coco @l 9o Adld
6Q6Q ?

(A) 180 (B) 90 (C) 60 (D) 30

35. If= of - ot — oi a number is 270, then 40% of the number will be :

99 QUG Q°%1‘1IQ —Q Q Qﬂl@ 270 ¥, 606R cad arailq e9ael 40 £R60

6897
(A) 810 - (B) 324 (C) 135 (D) 108

36. Three numbers are in the ratio of 3 : 4 : 5 and their average is 36. The largest
number 1S :
Gcld aeeia agale 3 4 5 6 cAAIQER QlQlQIQ 36 266 | 6062 90 Q°GHIG
qalanly) 7
(A) 54 B)45 (C) 36 (D) 27

37. What is the smallest qumber which when decreased by 5 is divisible by 16, 24, 30
and 327 :

caa. 5967 Ql°%1‘ﬂ@ 5 Geglel @6m QealcieR 16, 24, 30 G 32 QI YA 6QQ ?

(A) 475 _ (B) 480
(C) 485 (D) 490

38. Find the value of\/: —J'
\F_szm Q69 ?
4 5 -
4\/‘

(A) 1 (B) 55 - @& (D)

[

2y

il

CRE-2021/A
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‘\ .
39. If a’>+ b® =80 and ab =32, then find the value of 2 4 2
: E ; a b
O . (BYS
3 ,
(C) Z (D) can not be determined
a0 a? + b7 = 80 94" ab = 32,6060 = + 2 6q60 7
3
(A3 (B) 2
3 ~ ~ —~
(®)] r (D)@ Q8 QQSQQ N

40. In an examination, there were 600 boys and 400 girls. 60% of boys and 50% of
girls passed. The percentage of candidates that failed is :

Y@ aSIER 600 QIRR Y1Q° 400 AIRGI E5A | G9Q6I 60 AIRR Y9° §690! 50 AR
aISIER QIS GR6A | €069 §19Q9I ca6a dle cem 66m ?

(A) 40% (B) 44% (C) 50% (D) 55%
PART - 1II
GENERAL KNOWLEDGE : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below eachus A, B, C & D

There shall be negative malkmg @ 0.5 mark per question for wr ong/mulnple
answers.

41. ‘Huma’ in Sambalpur district is well known for which of the following ?

(A) Majestic Waterfall (B) Hot spring

(C) Reservoir (D) Leaning Temple

BRde auq ande @qie “gal” caaelala 9o ?
(A) SQUCRIG, @RIUQ (B) agdd@sd
(C) ARG (D) @9 F4Q

42. Consider the following personalities of Odisha:
I.  Justice Ranganath Mishra |
II. Justice .Ananga Kumar Patnaik
I1I. Justice Deba Priya Mohapatra
IV. Justice Gopal Ballav Patnaik

Who among the above personalities have been the Chief Justice of India ?

(A1 &1 ‘ (B) I &IV

C)n&Iv (D) 1 & 111
CRE-2021/1 | . P.T.0.
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\ IR PEmle \,“mi\\)‘ AT k.‘\.‘lm\.@ WO
Lo Q0 Qe §i
o QOIQAE TR QIR LRI
T QI 6Q0G SIS
IV QOIOY GUILIRNRE UG QIS
WoWlW \9‘t\~\i\~). sl $1IMW KRB USSR DOINUS Llom ?
() T 11 (B3) 1YW 1V
(S RIRUNEAY () 1 v 11

43, Tides ave caused by pravitational pull nl; the
() Earth on the Moon (3) Earth on the Sun
() Sun and Moon on the Earth (1) Moon on the Earth
QIR IRHIGHENCL TN QIQEQ G ek @3
(A) LRI QQ QIO (13) MR (1) Qeica

(C) QT YR QQQL LG Q6 (1) Q9Q 1AM QIR

44, Dayananda Saraswati founded :

() Brahmo Samaj (B3) Arya Samaj
() Prathana Sanmaj (D) Bahujan Samayj
QUIRQ AQOT @'l O/ QAR

(A) QI deli@ (13) e e

() 1A e (D) QQQE AR

45. Who among the following died inexile ?

(A) Rani Laxmibai (13) Bahadur Shah Zalar
(C) Tatya Tope (D) Nana Saheb
GARNE TRIQ WY GAIFRCR ¢IIINE @RGP

(/\”) QAN hﬁ&\{"lﬂ;‘l(\‘l , (13) QIRIQQ G @y
(C) QIR GHI1EE (1) QIR NGOG

46. Which tales are related with the painting and seulptures off Ajanta caves
(A) Panchatantra Tales (1) Pentamerone Tules |
(C) Jataka Tales | (1) Hitopadesha Tales
Pl ClENGQ Sial Gamel © ”\\'M(n‘ﬂn‘l (OO DRI eI, 2
(A) QFIQE W5l (1) CHRIGEICOIR Gran

(C) QIR YRG! ' (D) QEIIEQ4 Gl

CRE-2021/A




https://studydaily.co.in/

11

47. Name the place located at the confluence of Alaknanda

(A) Badrinath

and Mandakini rivers.
(B) Rishikesh

(C) Rudraprayag (D) Devprayag

IRRIRQAI G FRIAR AY1Q LAN ARQ QI Q4 7

(A) Q@Q1QIel (B) a86a4

(C) Q9 99ye (D) 609 g

48. Match list I with List II and choose the correct answer from the codes given
below the lists.

List -1 List - 11
(Dance form) (State)
a. Bharatnatyam ' I. Tamil Nadu
b.  Kathak 2. Kerala
c¢. Kuchipudi 3. Andhra Pradesh
d. Mohiniyattam 4. Uttar Pradesh
Codes :
abcd | abced
(A)2143 (B) 1432
(C) 4321 | (D)3412
AIRGI-T @ GIAGI-1T 42 67R @8 et 9806 6010Q €0R A8Q QIR |
SlRaI T claal 11
(@6%) @ay
a. QRIS I QIFRRIQ
b, QR 2. 6ReR
c. Q6a@ 3. 2RY6Rd
d. eqdeanee 4. QQQCLd
abced abed
(A)2143 (B) 1432
© 4321 . (D)3412

CRE-2021/4 -
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49,

50.

51.

" (A) Goa

52.

Which of the following pairs is not correctly matched ?
Revolution Related to
(A) Goldcn Horticulture

(B) Whitc . Milk

© Blue Poultry -

(D) Green Agriculture

FARGIS e cadd ade cald Qs 7
Qe eade

(A) 9d “Qaie g8

(B) 660 Qe

(C) MR dIRe @8 :

(D) 99% o8

Whichi of the following pairs is not correctly matched ?

States Main Language
(A) Goa Konkani
(B) Meghalaya Khasi
(C) Nagaland Angami
(D) Sikkim ~ Tibetan

FARGIO ArMQ €266 a0a 6ald @8 ?

QAURY qatiusl
(A) gl Salley
(B) 6AQIREL slien
(C) QlelIMI& epen
(D) daq Geagiq

The state having shortest coastline in Indiais :
(B) Kerala (C) Odisha
QISR 8907 666as! al Qe
(A) calia (B) 620

(D) West Bengal

(C) 6Gal (D) a&sQer

Who is the Supreme Commander of the Armed Forces in India ?
(A) General of Army (B) Defence Minister
(C) President (D) Vice President
Qlaoea AaNQIdna acdle 6aRIas @9 7

(A) 2RedRl I8N (B) 90a8I aay

(C) QUG (D) @aQugad

CRE-2021/A
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53. Which one of the following Jumdlcllon of the

Interest Litigation (PIL) ? Indian judiciary covers Public
(A) Appellate jurisdiction

e (B) Original jurisdiction
(C) Advisory jurisdiction

. o (D) Epistolary jurisdiction
Qee1a AHAAIRQIR ARGE CEI9UNQ aig afe eaces ABcaae ei0Q
2308 ? o o

(A) 9A90IQ 68U

(B) 7eq cs0uaia
(C) aQIF4 686URQ

- (D) 90 aaMa, 689uaIe
54. Who is the present Director General of World Health Orgzinisation (WHO) ?

(A) Lee Jong Wook (B) Gro Harlem Brundtland
(C) Tedros Adhanom Ghebreyesus (D) Anders Nordstrom
349 QIg4 AE0RQ @EAINA AQIRcTaR &Y ?

(A) A 6RIG-Q8R (B) 69l Q18RI QECRIG
(C) 656QI9 2RI 6A6Q6aLY (D) 21404 adesiA

55. Which of the following taxes is levied by the Union and collected and
appropriated by the states ? '

(A) Stamp duties (B) Passenger and goods taxes
(C) Estate duties (D) Taxes of newspapers

FARGe Mg 6ad ¢IRd AIRE AARIaF QIal FRIAe QU Y9 QIRY AARINE QIAl
21919 99° 498 QY ?

(A) 8¢ Q46 (B) €I6aBR ¥&° g0d SHIQd
(C) 686 Q4% . (D) HIR6EIE BIEP Q4@ 6aaR

56. Which of the following Financial Institutions is the source of credit for small
industries ?

(A) IDBI (B) SIDBI

(C) IFCI (D) NABARD

GARGES FNG 6aal aeT nalaaiqn eeal 89w AR del AGISQ Qg A ?
(A2 § & 2R (B) e 2IQ & & 2R

(C) el ver d 2R _ (D) 19l

57: The Indian Railways has launched an App (o help the passengers. What is the
name of the App ? '

(A) Rail Sahay (B) Rail Seva (C) Rail Saral (D) Rail Madad
A0S0 69F AIgIFIeE gRUIaIR AR AQRIAl App Q RIF @€l ?

(A)GoR aQIs  (B) 6qR cdal (C) 6@9 aonm (D) 0% 9QQ

CRE-202)/A P.1.0.
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n . . e 1 Toaani: . ~ of Puri
58, The world famous Navakalevar of the deitics in Lord Jagannhath Temple of

59.

60.

61.

62.

takes place in which year ?

(A) Two consecutive odia month of Kartika

(B) Two consecutive odia month of Bhadraba

(C) Two consceutive odia month of Aswina

(D) Two conseeutive odia month of Ashadha

A 49 gQ 0RQILIR ATRER €98l AIHER GgQde QRRERIA 6aQ 9F QW 7
(A) QN @A GG KRR Q196a

(B) QAIA0 GG 6aI01 Quaq f1aea

(€) QIR0 62l 6ol A FIaca

(D) QAIGIS BRI IS ATIQ AR

Who is the first Non-Indian to receive the Bharat Ratna ?

(A) Mother Teresa (B) Nelson Mandcla
(C) Khan Abdul Ghaffar Khan - (D) Amartya Sen
CAQ Q6Qan QITRQ gels QAQBAR aAIRfieR ? ,

(A) A0Q €66l (B) 6904Q FI6aMl
(C) 9IQ AQRA FENQ SR | (D) AA6Y 6aQ.

Which country was the champion of Men’s FIH Hockey Junior World Cup-2021?

(A) France (B) Germany (C) Argentina - (D) India
6RQ 64 4QE VP RIa Yo, QF gfua §q Qd -2021 @ ¢°GRIQ cladq ?
(A) 9eg (B) @l (C) 2Uea&AI (D) Qe

For which book Dr. Prativa Ray got Moortidevi Award ?

(A) Shilapadma (B) Yajnaseni

(C) Punyatoya _ (D) Chandrabhaga O Chandrakala
08 g0Ql QUL 6RE Q9@ A1 AR OAQ AR 7 .

(A) Q) (B) dIkeq

(C) deM6o1 (D) QQQIGI G 9Qaq!

Name the India’s first multipurpose Satellite ?

(AOE QAR gas Qs Qagda ?

(A) IRS-TA (B) CMS-01
(C) IRNSS-1B (D) INSAT-2A

CRE-2021/A
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The source ol energy of the sun is due (g

(A) Nuclear Fusion

(C) Collison of Atoms
qal 686 ge QI8 6RaR
(A) MIFOQ TRIRG

(C) AQAIE U

(B) Nuclear Fission

(D) Chemical Reactions

(B) M99 daien
(D) Qlagfe goqal

64. Decimal system in India was introduceq by :
(A) Aryabhatta (B) Brahmagupta
(C) Bhaskara (D) Medhatithi
QARER QEAR 080 AQI QA BIRS dQIIRdial ?
(A) Aies (B) 9245
(C) QAR (D) eqw@a
65. Which one of the following Bills must be passed by each House of the Indian
Parliament separately by special majority ? '
(A) Ordinary Bill " (B) Mon‘cy Bill
(C) Finance Bill (D) Constitutional Amendment Biil
FARGe MG 6ol R QIAEIK C°dea g6RiR FasA 999 QIR 9] EreHIca
dIo® 609l agal ?
(A) QRIS AR (B) &1 Q@
(C) 218Q 8q | (D) afitle aGedn aama, da,
66. Which one of tﬁe major rivers of Odisha does not have delta at its mouth ?
(A) The Mahanadi (B) The Brahmani
(C) The Rushikulya (D) The Baitarani
GIEIQ Qo GO1 AR NG 686 6Q1 FQISIER SERIBG Q1L ?
(A) AQIQA1 (B) QlQ6ll
(C) agigaul & (D) 63008
67. Who is the present Chief Executive Officer of ‘Twitler’. ?
(A) Satya Nadella (B) Anshu Jain
(C) Parag Agrawal (D) Ajaypal Singh Banga
QBAIR “Twitter” @ 7o ARIRG @9 7 .
(A) de4 Qleoml (B) &rg €6
(C) aQuel again (D) dedaim &° Q6h
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68. Amon0 the following which Odia movies jointly won the National Awmd in the
67" National Film Awards 9

(A) Sala budhar badla & Sri khetra Sahi Jata
(B) Kalira Atita & Sala Budhar Badla

(C) Kalira Atita & Sri khetra Sahi Jata

(D) Sala Budhar Badla & Aadim Vichar

PQ\QCIO ARHQ 6aQ 6w G‘@OO OOO 07 9 QG AN QLR ARG Qe
QAFA Q@R QI(\JEG& ?

(A) 9R1 QRIQ QO Ve ¢lesQ aid aie
(B) QIRQ 2I1E ¥Q° 97l QQAIQ Q4R
(C) QIAR ANG ¥_° §168¢ aId a6
(D) 9Q1 QAIQ QR Ye° 2TA FoIa

69. Which city Government has become the world’s first government (o (urn
completely paperless ?

(A) Moscow (B) New York (C) Dubai (D) Beizing
Q8RR €9Q AQAR AARIQ gaF A HIGE daY AARIasR afae 6QIeS ?
(A) A6y (B) foae (C) QQIR (D) 69Q&

70. The Amazone Reef is located in which Ocean ?

(A) Pacific Ocean (B) Indian Ocean
(C) Atlantic Ocean (D) Arctic Ocean
2IRISEIR Qe €aQ AQIAINNEQ QLR ?

(A) €9llg AQIgIelQ (B) QIQG AQIdIGIQ
(C) iendq AQaleiq (D) 219GQ AQIaIaIa

71. The national initiative named “Kayakalp™ was launched by which ministry ?
(A) Ministry of Science and Technology |
(B) Ministry of Agriculture & Farmers Wellare
(C) Ministry of Women and Child Development
(D) Ministry of Health and Family Welfare
“QIOIRR™ RIFQ QU 6AlR! <=l Q@QIQQ QA Q] YULNQR ?
(A) a8IQ 6 Q8 GQ4l AREIRG,
(B) @8 6 g8 QgJ FARSIR
(©) ABaI G &6 aatls AEIRD
(D) Q24 G AAQIQ Q6 AGEIR ‘

CRE-2021/A
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74.
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Which of the following categones of the im
the temple of Odisha ?

(A) Asina Ganesh (B) Sthanaka Ganesh

(C) Nrutya Ganesh (D) All of the above

Gondie AiQ QORI CleEIBER 6aE gaiq el edae fdq et cadielg
Aea?

(A) AR 668 (B) 49@ aceie
(C) 961 ©lesId (D) Q0619 4961Fa -

ages of Lord Ganesh is/are found in

Who 1mon° the following became the first Maltyl (Saheed) of Odisha during
British regime ?

(A) A) Veer Surendra Sai - (B) ]qyee RajgurL|

(C) Laxman Naik (D) Raghunath Mohanty
Qﬂ@%i@ e QG‘Q ﬂl@@@l@é@ 6G4IQ gaq 6910 @Y.26m 7

(A) @1Q g6 dIY : (B) @4 QU@6Q

(C) A8 QIS (D) QgRlel AQIg
‘Rengali dam’ is built over which of the following rivers ?

(A) The Brahmani (B) The Mahanadi

(C) The Baitarani (D) The Rushikulya
CQEIR1 99° FARTE AuiQ 6RE 601 AR AAld caled 7

(A) QIQ6lT (B) AQI0M

(C) 680Q8N | . (D) 8l

Originating from Chhotanagpur plateau, the river Brahmani enters Odisha in
which district ? L :

(A) Keonjhar \ (B) Sambalpur (C) Sundargarh - (D) Bargarh
sl Glelaq dinafia agd cala QIgan A1 6B6IA caa FRIER 9ead Q6a ?
(A) €RQ2Q (B) 49mdQ (C) dQowl¥ (D) 29I

Which of the following sancfum'iés in Odisha is also known as ‘Turtles'
paradise’ ?

(A) Bhitarakanika Wildlife Sanctuary (B) Kuldiha Wildlife Sanctuary

(C) Baisipali Wildlife Sanctuary (D) Gahiramatha Wildlife Sanctuary
63eIq AARGES BeaIay ALg “ger Qgd” aIesq &9 AdR0 7

(A) G00QAal a4dI8N aaaasH (B) @A9Q!. QR1gIEN AQIQEN

(C) e@ddIR @1 aaaiast (D) 9@l @@idIsN AQUQSH
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77. The place ‘Inchudi’ in Balasore district is famous for which of the following

78.

79.

80.

81.

82.

. (A) diarhoea

)

(A) Massacre during frecdom struggle  (B) Salt Satyagrah
(C) Gandhiji’s first arrival in Odisha (D) Scenic beauty

QSRR R and’ AAAde AN cradiaa gaa ?

(A) QUS| QQIFT PSR CIEIRGM! (B) MAél 34162
(C) QI@1er geir 6Hal aIgeg (D) apiene salagd

Which of the following statesmen is associated with Bhadrak district ?
(A) Biju Patnaik _ (B) Dr. Harekrushna Mahatab
(C) Janaki Ballav Patnaik (D) Nabakrushna Choudhury
FARGS ANQ €@ galdl @18 Qo Gfl 4Q €ge ?

(A) @Q deFI0R (B) 98 Q6QQ% F1L0IQ

(C) QIPQT 9RQ 991 (D) 999 6a1aY

Which of the following places is known as ‘Biraja Kshetra” ?

(D) Bhadrak

(A) Jagatsinghpur (B) Jajpur . (C) Cuttack
RAMGIO ANQ 6RQ 2R1Q “GaRl 689 @IV ?
(A) 0692°9ga  (B) deda (C) @9 (D) QQ@

Which of the following folk dances is mostly popular in Kalahandi district ?

(A) Chhau (B) Ranapa (C) Ghumura (D) Ghoda Nachu

FIRTS ARNQ 6ad cRIRGSY @RIQId BRIsa aelie cAIeda. 7
(A) 8@ (B) @sldll (C) gge (D) €Q191 Q19
| PART - 11

ENGLISH : 40 Marks

Instructions : Each question under this part carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriuse
answers out of the multiple answers given below each as A, B, C & D.

- 3 ) - . 0. m o 0ye . o " .
There shall be negative marking @ 0.5 mark per question Jor wrong/multiple
answers.

Instructions for questions No. 81 to 85 :

Fill in the blanks with appropriate and correctly spelt words.

loss to the country.

Gandhiji’s death was an

(A) irrepairable (B) irepairable (C) trreparable (D) irriparable

The patient is admitted in hospital foracute _____
iarrhocea tarrhi
(B) dia (C)_ diarrhia (D) dvrrhoey

CRE-2021/A
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83. The boy was punished for

sagd of similar mistak
(A) repitition (B) repeatatiop istakes,

(C) repitation (D) repetition
84. Any or
(A) ommission, commission
(C) omission, comission

In the affidavit will autract penalty.
(B) omission, commission
(D) ommision. commision

85. The terrible news of Indira Gandhj’s
lightening across the world.

(A) asassination (B) assasination

spread like a flash of

(C) assassination (D) asasination
Instructions for questions No. 86 to 9 :
Fill in the blanks with correct form of the verb,

86. A pair of shoes’ lying in the corner.

(A) are (B) were (C) is (D) am
87. Itis you who cheated me.

(A)1s (B) has (C) was (D) have
88. Neither of the boys ___ - won a prize.

(A) have (B) has (C) was . (D) are
89. Sixty years a long time for a country to grow and prosper.

(A) 1s (B) are (C) were (D) shall
90. Thecrew _____ rescued from the sunken ship.

(A) was (B) is (C) were (D) am

91. The word ‘insolvent’ means
(A) rich - (B) dangerous (C) notarious (D) bankrupt

92. Morning shows the day.
(Choose the ap'prlopriﬂle Odia meaning of the ;11)_0\!9 English proverb)
(A) o8] a@gfa an | (B) 941 QUOQ Q1eq |
(C) 6R1Q QIQIQ 9AS QIQIA | (D) g QI d&ier Qlee |

93. He was born with a silver spoon in his mouth.
(Find out the appropriate meaning of the above sentence)

(A) He was born in a rich family.

(B) He was born in a poor family.

(C) He was born in a middle-class family.

(D) He was born with congenital disorderin his mouth.

CRE-2021/A PO
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94.

95.

96.
97.
98.

99.

100.

101.

alade gogdesa aiv |
(Translate the above proverb in Odia into English.)

(A) A penny saved is a penny gained.
(B) As you sow, so you reap.
(C) Take care of the pence and the pounds will take care of themselves

(D) Il got, ill spent.

Raja Ram Mohan Roy was an atheist.
(Choose the correct meaning of the underlined word.)

(A) reformer (B) rebel
(C) believer in God (D) non-believer in God

Instructions for questions No. 96 to 98 :
Fill in the blanks with appropriate prepositions.

Beware the pickpockets.

(A) from (B) of (C) into (D) at
I prefer death ' dishonour.
(A) than (B) from (C) to (D) 1n
He could not comply my demand.
(C) upon (D) against

(A) to (B) with

I could not lay by anything for future due to my family compulsions.

(Choose the correct meaning of the underlined phrase.)

(B) utilise (C) gain (D) plan

(A) save
The Commission decided to abolish the prevailing system of recruitment
examination.

(Choose the appropriate phrasal verb of the underlined word)
| (B) deal in

(A) deal with
(D) put forth

(C) do away with

Instructions for questions No. 101 to 103 :
Find out the sentence which is grammatically correct.

(A) He is senior than me by two years.

(B) He is more senior than me by two years.
(C) He is senior to me by two ycars.

(D) He is senior than me for two years.

CRE-2021/A




~https://studydaily.co.in/

102. (A) I as well as John is to blame.

. (B) I as well as John are to blame.
(C) 1 as well as John were to blame, '

(D) Ias well as John am to blame.

103. (A) Lion is beast of prey.

. (B) Lion is a beast of prey.
(C) The lion is a beast of prey,

(D) The lion is the beast of prey.

104. ‘Autobiography’ means :
“(A) The history of the life of a person
(B) A record of one’s life written by himgelf
(C) A piece of writing or speech in praise of a person
(D) A person’s own hand-writing ’

105. Happiness or sadness is transitory in human life.
(Find out the correct meaning of the underlined word.)
(A) permanent (B) pre-fixed (C) short-lived (D) inevitable

© 106. A person who lives at the same time with another -
(Substitute one word for the above)
(A) contemporary  (B) accomplice .  (C) activist (D) adjutant

107. Prevention is better than cure.
(Choose the correct part of speech of the underlined word)
(A) verb (B) noun (C) adjective (D) adverb

108. The man was beaten black and blue by the villagers.
(Choose the correct meaning of the underlined phrase)
(A) slowly (B) moderately (C) severely - (D) occasionally

109. The statement of the Principal was communicated to all in bw
(Choose the correct meaning of the underlined phrase)
(A) writing (B) speech (C) vain - (D) protest
Instructions for questions No. 110 to 112
Transform the sentences into Indirect speech.

110. He said to me, “May you be happy.”' '
(A) He said to me that 1 may be happy-
(B) He wished me that I might be happy.
(C) He wished me that you might be happy.
(D) He said to me that I might be happy.

CRE2021/ P10

..




httpg#/studydaily.co.in/

111.

112.

113.

114.

115.

Rama said to me, “Are you going there?”

(A) Rama said to me that you were going there.
(B) Rama asked me whether I was going there.
(C) Rama asked me whether you were going there.

(D) Rama said to me whether you were going there.

The teacher said to me, “You are wrong.”

(A) The teacher said to me that you were wrong.
(B) The teacher told me that you were wrong.
(C) The teacher told me that he was wrong.

(D) The teacher told me that I was wrong.
sun rises in east.
(Fill in the blanks with appropriate Articles.)
(A) A, an (B) The, the (C) The, an (D) A. the

What is the feminine gender of ‘fox’ ?

(A) bitch (B) ewe ' (C) heifer (D) vixen

The room needs repairing.
(Change the voice of the sentence.)

(A) The room needs to be repaired. (B) Repairing is needed for the room.
(C) The room is being repaired. (D) The room hus been repaired.

Instructions for questions No. 116 to 120 :
Read the following passage and answer the questions given below.

Socrates, the great Greek philosopher, stayed in prison for thirty days before he
was finally executed. During this period of confinement, his friends apng pupils
used to visit him regularly. They always found him in calm and cheerful mood
He talked and taught his pupils as usual. He had no fear of death. One of hi\.
pupils bribed the jailor to let Socrates escape [rom the prison. But S”Cl';uc;
wouldn’t. On the day of exccution, his friends and pupils were in (e
was seen calm and cheerful as before. The Greeks used 10 execure
making them drink a deadly poison called ‘hemlock’. To every bho
surprise, Socrates took the cup of hemlock and drank it |jke

ars, but pe
People by
dy's uner
a glass of ater

last, Socrates went calmly-to death without weeping or complaining. -
116. What is the meaning of the underlined word in the passage ™

(A) unhappiness (B) excitement

(C) imprisonment (D) depression
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117.

118.

119.

120.

121.

122,

123,

124,

How did the friends and pupils of Socr.
(A) angry and agitated
(C) worricd and sorrowful

ates find him in the prison ?
(B) calm and cheerful
(D) dejected and unhappy

How did Socrates behave with his pupilg i), the prison ?
(A) talked and taught his pupils as ugyg] .
(B) did not talk and teach his pupils

(C) told his pupils to arrange for hig escape

_ (D) did not behave well with his pupils

How did the Greeks exccute people ?

(A) by hanging (B) by beating

23

(C) by beheading (D) by making them drink hemlock

How did Socrates face the death ?
(A) calmly without weeping or complaining
(B) angrily protesting
(C) crying and shouting
(D) repenting and cursing
PART -1V
ODIA : 20 Marks

Gedelant 1 v8 QIaQ g6e1e gea a0a aaq ae ve AId i | RrRde
90 deQléQ deqve° ol 06R FUUIRZRl QAAMIRE ANIQ dEalan @A

Qag

QR Qaa & vale aae e ge 88l 0.5 AIE sREIN degye aaIde |

06 9@ Qo AFATS QIeia §6Y QIR gasl Q|
“QleR ————~—~ @10 Ble AEROIQ KIRE"
(A) gioia Qg (B) @19@ 78l

“09l FIQ6R 619 IV QI 7 6AIRRIENR el @8 ?
(A) 2Ea Q) 6R6A 019 GulI@ QY @19

(C) agua aggie caal (D) @68 f6% @8 agal

“UTgQENa” daa a2l gl 7
(A) QIQI QR QU QIF
(C) a9l 2399 @& QU Q1@

(B) 2191 760 Q8 Q9 Q@

A6Y €6a 699 CUE 9laq Flaal @IV, O19 AAIGIER A8l QRICIN ?

(A) post-partem (B) post-mortem

CRE-2021/A

(C) &lleQ 66816 (D) Qaidie!

(B) Qseliel aan &6a 2ica AIF

(D) DIQl Q8 QUAIAAIER G

d
Q

99499
ada

(C) post-natal (D) post-nuptial
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125.

126.

127.

128.

129.

130.

FARES cad 608 Vo Fcodia g Q6q 7 N
(A) dlgd (B) QAIRY () 6aIEe] (D) ]

FARGS caal Iid Vo ¢llde QI 2ce |

(A) 21 IRy 89 R66 RIM NG |

(B) AQI 6060606h A6a aQiisn. 6C60696n wI6a aon A8inl |
(C) AGRIR cgenca adml, AIg a@aifm oI |

(D) 0QQIQ aA66Q 60 AIQIel R6R, 919 dgo o9 QRIENG |

49 €6 QI | _
(A) W40l (B) 6dlaayol (C) QIdengl (D) cell@a

QAR €@ “Inhabitable” @ 2] @&l ?

(A) Q@9 6glloy

(B) Q@Ql 2alal

(C) 9Q Qo6a &l ceqm

(D) 6960696R Q1€ 6aIGH @ 6REOERER QId Zicalley

fQ-9546Q &al caIGd alg |
(A) aeJ-ae] (B) d¢jQ-dlelq (C) A9g-gaQ (D) @199-2IaQ

(@@ ARG 2aQIg, QRIQRIING dle i ?
(A) g g9~ (B) alelgs © @Rl (D) aghalg

9. (131-135) ARG Q6806 0@ Aaa Q2 |

290 e gaela a0l arle @del 889, 6o QUIIR eglicn g olq)
CRIQAIQAIY; aer AQEH FRENGE AXH6R G6E JRIAQ 2ArINe! E9IA] | Q6aE Qf
AR C°0AQ AR UAFINGIA S G671 99 6QIA QIR QIAG | 604 QQG! Al o
Qa8 199l 6a9n FQEY AQ8d QocQ Q6. AR - A 6 cag-cag RM6Q q(gq
QQOIRG | Hace AIeatr 6QIRdRl A4 IR0l Geald 9099 ¢q G0 e
0QIQ Segas af vad fadia agfe cARRE “UIde. aReqIAT ay
Feaee ARl olRcam ¥9° de ALMER anid deed, IR ave
QacHle | UFlce Q4Q QR 60 A 6 U89 2aRe af UaiQg
55@@] 2log A8 coelglv, ¢ QRAEHIQ Q0 01 Uplchae Baec
JeeIQ ang 2I1aa 89 9ode a°adl Q48 | AMASER eneryyq SIS
.8 6018 2lg, @aad | aad 2dA190l c8g6a Y@ g 298 age

ol

AI996a 2arla0ia degl 26 AINte a3 e866Id e g |

197 Q ¢
G eIGun
I Qeng
Rt
R e
19, | @cm@;
9 Seaigieq
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131.

o 0 25
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PART .y
COMPUTER , 4 Marks
Instructions : Each question under thjy Part carries ONE mark. Pl »
o N : mark, Please read the
instructions carefully al‘ld answer the quegtioy by selecting the most opriate
answers out of the multiple answery 2iven bc’l()wé ! ' A‘L‘ B chos CPRLApTIRt
¢ /| )( C T ({S , ; & D.

There shall be negative marking @ (.5 mark 13 er question for wronglmultiple

L answers.

The two kinds of main memory in a computer are :

(A) Direct "““d Sequentlal. (B) Primary and Secondary .
(C) Soft Disk and Hard Disk (D) Cache and Virtual

Which of these programs will you choose to write a lettcf to the head of an
institution 7

(A) Notepad : (B) Word Processor

(C) Spreadsheet (D) Graphic Processor

VIRUS stands for :

(A) Vital Information Resources Under Siege
(B) Very Important Resource Under Siege -
(C) Vital Information Resource Under System

- (D) Virus Information Resource Under Siege

What 1s the full form of e-mail ?

(A) Electric Malil (B) Electromagnetic Mail
(C) Electronic Mail (D) None of these

Which platform can you use for online meeting ?

(A) Zoom (B) Google Meet

(C) Microsoft Teams (D) All of the above

The crime of stealing a password is called :

(A) Spooling (B) Surfing (C) Browsing (D) Spoofing

WAN stands for a
(A) Wired Aré_:a Network
(C) Wide Array Net

(B) Wide Arca Network
(D) Wireless Area Network

Webpages are written using :
(A) FTP (B) HTTP (C) HTML (D) URL

P.T.0.
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149.  Unsolicited e-mail is called a
(A) Spam (B) Backbane (C) Newsgroup (D) Usenet
- 150. Which facility can you use in MS Word (o merge and print multiple documents >
(A) Print Merge : (B) Mail Merge
(C) Print Preview (D) None of the above

151 What programme is used in MS Word to check the spellings ?
(A) Speller (B) Spellcheck
(C) Outlook Express _ (D) None of above

152, In MS — Word every command is available in :
(A) Printer (B) Letter (C) Menu (D) Software

153. Editing a document consists of reading through the document you’ve created,
then

(A) Printing it * (B) Deleting it
(C) Correcting any errors (D) Saving it .

154. In word, you can use Word Art to :
(A) Make Copics (B) Delete Text
(C) Format Text ' (D) Save Text

155, Wthh among the following print commands should be selected to print first 5
pages of document :

(A) Page Setup (B) Page Control  (C) Print All (D) From‘ to
156. What is the default font in MS Word 7

(A) Arial - (B) Times New Roman

(C) Calibri(Body) (D) Gothic Bold

157. One cell format can be copied to another cell by using :
(B) Format Setting

(D) Format Painter

(A) Format Showing
(C) Format Checking

158. In Excecl, each sheet in a workbook is displayed as :

(A) Tab- (B) Marker (G Arrow (D) None of thege

159. What do you use to create a cbarl in Excel ?
(A) Pic Wizard (B) Chart Wizard
(C) Data Wizard (D) Excel Wizard
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160. In a spreadsheet, which button do you click to add up a series of numbers ?
(A) The AutoSum button (B) The Formmiilabiittan
(C) The quick total button (D) The total button
161. Which function is use to display the current date and time in a cell 2
(A) Today (B} Now (C) Day (D) Current
162. Which function is used to join two cells in Excel ?
(A) Join Cells | (B) Merge & Centre
(C) Wrap Text (D) Align
163. In Excel, Columns are labelled as
(A) AB,C... (B) ALLA2,A3.. " (C) 1,2,3... (D) SASI, SBS2..
164. How many sheets are there, by default, when we create a new Excel file ?
(A) 1 (B) 2 €3 (D) 4
165. displays each slide of the PPT as a thumbnail and is uséd to re-
arrange them.
(A) Slide Show (B) Slide Sorter  (C) Slide Design (D) Slide Display
166; Which shortcut key is used to exit from the slideshow ?
(A) Enter (B) Shift ©) Alt (D) Esc
167. Which file format can be added to a PowerPoint show ?
(A) .gif (B) .jpg (C) .wav (D) All of these
168. Which of the following is not one of PowerPoint view ?
(A) Slide Show View (B) Presentation View
(C) Outline View . (D) Slide View
169. In PowerPoint presentation :
(A) Sound clips can be inserted but not movie clips
(B) Movie clips can be inserted but not sound clips
(C) Both cannot be inserted
(D) Both can be inserted
170. The slide that is used to introduce a topic and set the tone for the presentation is
called the : , .
(A) Table Slide (B) Graph Slide ~ (C) Bullet Slide (D) Title Slide
CRE-2021/A o P.T.0.
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171, What is the default page sctup orientation of slide in Power Point -
(A) Vertical (B) Landscape
(C) Portrait (D) None of these
172. Power Point Presentations are widely used as :
(A) Note Outline for teachers B) Project Presentation by students
(B) Proj
(C) Communication of planning (D) All of these
173. What is the best way to create another copy of a slide ?
(A) Click the slide, Press Ctrl + A and paste in new slide
(B) From Insert Menu choose Duplicate Slide )
(C) Redo everything on the new slide that you had done on the previous slide
(D) None of these
174. is processed by the computer into information.
(A) Processor (B) Numbers (C) Data (D) Output
175. Computer Virus is a: .
(A) Hardware (B) Software (C) Bacteria (D) Freeware
176. What is Backup ?
(A) Filter an old data from new data
(B) Copy to save a data from original source to other destination
(C) Access data from tape
(D) Connection of one network to more component
177. What is called the starting up on operating system ?
(A) Entering (B) Formatting (C) Starting (D) Booting
178. What is the shortcut key for Refresh ‘?‘ _
(A) F2 (B) F3 (C) F5 ' (D) F4
179. If the displayed system time and date is wrong, you can reset i using :
(A) Write (B) Write File (C) Calender (D) None of these
180. Windows displays various options to shutdown. Which is suitable at (e end of
- day ? _
(A) Shut Down (B) Sleep (C) Hibernate (D) Restary
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